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Module 2:
LTL to NBA



Goal: Understand the evaluation of an LTL formula on an infinite word
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T [ ed | A | A [k | £} | £ L I S R A AN AR O R S AR S BN R Y
b4 0 0 1 0 0 1 0 0 § 2 1 1 0 0 o 0 0 0 0
true | 1 1 1 1 1 1 1 1 true | 1 1 1 1 1 1 1 1 1
trueUpy | 1 1 1 1 1 1 1 1 trueUpy | 1 1 [ 0 0 [ 0 [ 0
—tueUpy | o ° 0 0 [ 0 0 0 —tueUp; | o 0 1 1 1 1 1 1 1
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nUp true U (=py A X (=p, Upy)
fpd | o | fodd | dpdd | de2d | dedd | dedd | dedd (forp2} - 0 e | o 4| ) [fpoeadfioree
4 1 1 1 1 o 1 1 1 1 ”n 0 0 0 0 1 1 1
P2 0 o 0 0 1 0 o [ 1 n 0 1 ) 0 0 1 1
D3 U U U T T (O U I N R ' S R R I R PR O
P2 1 0 1 1 1 0 0
nUp | 0 o 1 1 1 1 1
b | £} | [ ded | G | ) | ) | ek X(pUpy) | 0 1 1 1 1 1 0
nopt o 1 0 1 0 1 0 1 —pi A XEpUpy) | 0 1 1 1 0 0 0
plojojojoejoejejojege U AXEnUp) [ 1 | 1 | 0 [ 1|1 |1 | o
nUp | o 0 o 0 0 0 0 0 0
- true U —(true U p,)
T [ ed | A | A [k | £} | £ b [dedd | £ | 43| 43 | 0| 8] Y 1
Pl oo 0 1 0 0 1 0 0 Pl 1 ) 0 [ 0 0 0 0
2 U U U U U I N 272 U T T T (O R (R '
trueUp; | 1 1 1 1 1 1 1 1 trueUpy | 1 1 [ 0 0 [ 0 [ 0
—~tueUp; | o | o | o | of o] o o]o stuweUpy | o | o [ v | 1|t | 1| 1| 1|1
true U= (true Upy) | o [ 0 0 [ 0 [ 0 true U - (trueUpy) | 1 1 1 1 1 1 1 1 1
—trueU=(rueUp) | 1 | v | 1 | t | 1| 1| 1| 1 ~tmeU=(ueUp)| o [ 0 | o | 0| o| o |o]fo]o
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Entry in first column of last row (corresponding to final formula) is 1
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Summary
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